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And she will be found to be a stranger retroactively - ¥152% 7797 NRXMN

Overview

DX 27 maintains that a 730 who was 7°aR nv7%? 7w7pnl (to a 172), but the 7917 was
AR ny7? XOw (he went overseas), she may not eat 7217n,! for we are concerned that
perhaps the father may return and protest the 1°X1°1,? in which case the P will be
considered a 7777 retroactively.? Mmoo qualifies the meaning of 7777.
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It seems to N®0IN that the word '771', which *0X 27 mentioned, he did not mean

to say that she is considered a n''7% 5197, for n''77 an 79198 may eat 771219n -
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But rather he meant a 332972 797 —

Moo anticipates a difficulty:’
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And even though the reasons for forbidding an 7917X from eating 772170 are not
applicable here; neither on account of 11222, nor on account that perhaps they

will pour her a cup of wine, etc.; the reason these two concerns are not applicable in our case is -
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For since she entered into the ;7127 he sets aside a place for her to live (not where

her family lives), and he checked her out for any blemishes, so why should she be
forbidden to eat 7m0 —

mooIn responds:

' A 5% N2 who marries a 3773 may eat 7707 1 770 from the time she is nwTPn, however the oo forbade her to
eat 170 until the X1 (when 7912 70121 [as will be shortly explained]).

2 The PR of a LR must be 7°aR Ny, just like her PwITp.

3 A (7)1 is forbidden to eat 7m1n; therefore all the 170 she ate would have been M1 Moxa.

4 The maup will not have transgressed any Xn»7X7 Mo°X by eating 72170 after her Pw TP, rather she will be only 72w
an 712977 0K, which forbids an 701K to eat 7170 until 39177 DINW.

3> Seemingly she should not transgress even an 11277 MOX, for the reasons the 13121 forbade an 701X to eat 17N are not
applicable to this situation.

6 See 119m°0 71"'7 3,> *"wN. Here it means a blemish. The husband may find an unacceptable blemish in the 7193 after the
1w17p, which may render the 117°p void retroactively. However after the 1"Xw°1 there is no such concern.

7 There is the concern that perhaps the family of the 101 will pour a cup of 7270 wine for the 773 (in her father’s
house), and she in turn may give this cup to her brothers to drink, and they are not permitted to drink 7m17n. Again,
after the X1 we do not have this concern (since she is no longer in her father’s house).

8 This removes the concern of 111> Xnw.

° This removes the concern of 7191°0.
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Nevertheless the 252517 did not distinguish between one 771819 to another 701N -
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Meaning that since her 7127 is not a complete 71211, because the father can protest

and invalidate this 191, therefore -
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The 3327 did not differentiate between this case (where 7°2& ny71 ROW 71917 70101)
to a case where she did not enter into a 5797 at all, and in all cases she cannot eat 7m17n.

Summary
The 72170 n9°5X MoK for an 71017X applies even when the reasons for this prohibition

112771 do not apply, since her 1915 110°10 can be invalidated by the father; therefore
she is still considered an 71017X, and the o121 apply their 77°12 to all moIIX.

Thinking it over
Previously'? the Xn3 stated that under certain circumstances (where the concerns of

the 2°no1 do not apply'?), an 701X can eat 72170 and we do not say 2199 k2. Why here
does NoIN maintain'* that we say 3199 8,12

19 Moo is explaining his statement (made in the previous line) that 701K 701X P2 3p7°1 X?; however here she is not
an 701X for she was 7979 170101, therefore N190N explains that she is still referred to as an 701K, for it is possible that
the father will void the PXw°1.

' See ‘Thinking it over’.

12 x,%0.

13 One case is where the 111 accepted on himself that he will marry her, regardless if he finds blemishes (so there is
no wwn of Non°0). Another is where the father gave her over to the >m>w of the ¥2 to take her to the 71917 (so there is
no wwn of 1nY R™W).

14 See footnote # 11.

15 See 72N won X # 137 onwards.
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